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1. (10 points)t° lim
x→∞

(x2−4
x2−1

)x2+1

2. t°

(a) (6 points)
∫ 1

0
x5ex3

dx

(b) (6 points)
∫ π/4

0

dθ(
tan2 θ +4tanθ +3

)
cos2 θ

(c) (6 points)
∫ 8x2 +4x−11

(x+3)(x−1)2 dx

3. (a) (6 points)t°
∫ 1

1/2

1√
2t− t2

dt

(b) (4 points)t° lim
x→1

1
x−1

(∫ x

1/2

1√
2t− t2

dt− π
6

)

4. (8 points)~‡ì¡	}
∫ ∞

0
ex−2ex

dxu´æÊ?à‹¤¡	}æÊ,t°wM�

5. I R =
{
(x,y) ∈ R2 | 1≤ x≤ 4,1 < y≤ 1+ x1/2} �t°

(a) (8 points) Rú x = 1ì�F)5ì�ññ	�

(b) (8 points) Rú x = 0ì�F)5ì�ññ	�

6. (10 points)5?�( y = x1/2 ú y = 0ì�� t°ç 1≤ x≤ 4vF)5ì�[Þ	�

7. (6 points)q f (x) =
√

x3 + x+6 �°
(

f−1)′(4),6ÿu° f í¥ƒbÊ 45ûb�

8. (8 points)q f (x) =





3x+ x2 sin
1
x

ç x 6= 0

0 ç x = 0
~‡ì f ′(x)æÊíP0�ç f ′(x)æÊv,t°wt��

9. (14 points)I f (x) =
x3

x2−1
�~n� f (x)]Ó�]Á�po�Ú¡(�”M5P0,1å| y = f (x)íÇ�


